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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. gdemel gdyey 3199 YA U W A Afard: fad |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. TH A & fg<l 9 FAUSH TR H fhdll &R &l Afe / = / faienyma
M W fet oo % g 1 wE "H |
If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi
version should be treated valid.
3. Wi yW e § | U w239 24 H ST fawed §
All questions are compulsory. Question Nos. 23 and 24 have
internal choices.
4. YAF G H IW I T II-GRh H gl ford |
Write the answer to each question in the given answer-book only.
5. U HHI% 2 5qh 3T ALIHE T © |
Question Nos. 2 to 5 are Very Short Answer type questions.
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6. el ot stavas 7, fo # faga uw, fagg &= wd g feo & fagn
feama |
Wherever necessary, show the direction of the electric current,
electric field and light rays in the diagram.

7. 59 79 & & 9 Afus 99 ofF a1l 9 €, 37 9 9E 1 g T 91y
qaq fag |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

8. UYT HAM® 1% =R AF (i, ii, ili 71 iv )T | THH 9F % IW & 9K
fageq (1, &, T T) & | WS fashew &1 SRR Syt H
T aR aiferet e fad
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each
part has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

—— e 3T T HATRT
Qtfg:tion No Correct letter of the
i Answer
1. (1)
1. (i)
1. (iii)
1. (iv)
1. () FHE e 1, % < el TRlg Hid § 9 it Yiawq § Ared dierd
() I, (& 21,
(W) 41, (3 o.
The average intensity of interference pattern obtained from two
coherent sources of same intensity I ;, will be
@a I, B) 21,
© 41, D) o. 7
SS—40-2—Phy. 11

https://byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJUS
3
(i) [ SYRS H e o Hefd I ol w1 Sseh g0
() Ao T+ 1) @ 2T+ 1)
27 2m 1
(®) T‘\/h(l+1] (Q) e (Z+T)
The expression for orbital angular momentum in [ ™ subshell of
an electron will be
A) L l(lL+1) (B) 2m L(l+1)
2m * h *
27 2m 1 1
(C) T\/h(l+1] D) (”T) i
(iii) 3TE-dTerhl | =T gl ©
(31) THd gag (@) fgyar
(7)) fayer (3) 3Aya |
Conduction in semiconductor is
(A) unipolar (B) bipolar
(C) tripolar (D) non-polar. %
(iv) A9 AEA A I T
(31) oA Al (F) IS A
() w-fem (%) T feor |
Wave of the highest penetration power is
(A) infrared wave (B) ultraviolet wave
(C) X-ray (D) gamma ray. %
2. oA T H @ Uit b e g © 2
Why is the phenomenon of polarisation is not observed in sound
waves ? %
3. TIESISH WRHI T JdIF Hel &t B 4-77 AR, @ oW wam & e 9@
it |
Radius of third orbit of hydrogen atom is 4-77 A. Find the radius of its
first orbit. %
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4. 99 AG-IAH Hi fRed 9= & AW faf@ay |

Write the name of crystal structure of intrinsic semiconductor. %
5. TR 0T HoR H Y&H T bl AfYw SUGH © ?
Why are microwaves more suitable for sky wave propagation ? %

6. TN & Afqeo T faadd # g o =<1 fafan |

Write any two differences between diffraction and interference of
light. 1

7. 3aM & fafire oew I w3 & o9 fafy § 9w Sue w1 Wes 1@
AHifeha o sAEY |

Draw neat and labelled diagram of an apparatus used in Thomson’s
method to determine specific charge of an electron. 1

8. M QA-Fel T & folu Tewhl U1 U Wil &l @fa & & faga fava
V, TV & I I R |

Find out the ratio of accelerating electric potential V., and vV, for
equal de Broglie wavelength of alpha particle and proton. 1

9. Y& fagd §@ 9§ Wich adich H1 AF FA B 1 AHiTRd Foo qon e
fava wa stafad YR i STafd & H7ed ook SRy |

Draw labelled diagram to determine the value of Planck’s constant

using photocell and the curve between stopping potential and
1 1

frequency of incident light. 7 +37 =1
10. YR 571 i 3 & foivand fafae |
Write any two properties of nuclear force. 1

11. forqa fes i aRfia wiNT | sTgia WA & S9R W Sifas & 9 fafay |
Define electric oscillator. Write the names of oscillators on the basis of
frequency range. 1

12. fg-fmasi 21fa ( OR ) gR den fg-f7asht 219 (AND ) gR & o o fiq w=
¥ | froel Sordl i 1 etaeTd foafay |, S19 SHi gR W Tid Sohd 99 9T B |

Two-input OR gate and two-input AND gate experiments have one
output. Write the two stages of input signals when output signal is
same for both the gates. 1

SS—40-2—Phy. I

https://byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

S
@BYJu's

The Learning App

5

13. 3™ HUSd 1 A0 /T YR BIa1 € ? SHhT &1 SUAI © 2

How is ionosphere is formed ? What is its use ? 1

14. TETH & W 95 ¥ TR & WEdT Sl I hifau | AEygs o
AT |

Explain the reflection of light by Huygens' wave theory. Give

. 11
necessary diagram. lz +5 =2

15. 10-6 #ex =q™ deo1 880-5 fhaum / #HleX 3 @ 9l Th dd 91
10 focft #ex @ guapa wiel & 7 feer wdt € 1 we % me favarm
364 T | 06 g W TeiaRl bl HE&A J1d FIWT | (g = 10 HeUHAHTE 2 ),

An oil drop of diameter 10~ ¢ metre and 880-5 kilogram/metre 3

remains stationary between the plates separated by a distance of

10 millimetre. The potential difference between plates is 36 volt. Find

the number of electrons on the oil drop. (g = 10 m/sec ? ). 2
16. X-fHo Haq TagH ¥ 3iae qUTesd &l e UH hitaT | 0-01 A T &t
X-fortont &t gepfa fafaw |

Obtain an expression for cut-off wavelength in X-ray continuous
spectrum. Write the type of X-rays of 0-01 A wavelength. 1% + % =2

17. 9 7 f9ga &) el ¥ dR) & FdieH Yfders] 1 T iy |

Give explanation of Bohr’s quantum condition on the basis of the

principle of matter waves. 2
18. () wreSert o tffveda fagr fafem |
(i) TR TR 9 § Ug® helS F IO ARd AU a1 Hifad ofya =i
B8 ?
(i) Write Heisenberg’'s uncertainty principle.

(ii) Why the cathode of photoelectric cell is of large surface area and
1,1

cesium coated ? 1+ 5+5 =2

19. NfEm-227 1 3ii9a o 2-74 99 U Gfepaar 37 WIS § | Afaq i A=
I SIS |

Average life of Thorium-227 is 2:74 years and activity is

37 rutherford. Find out the mass of Thorium-227. 2
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20. () A oif e 1 deear fome forg R fran Srar € 2

() P-N @y & fod fawa gy &1 ofigd 99 0-36 diee © | Gfy W
1-8 x 10 2 fheiEiee / Hex =1 foga &= sufeea § 1 39 d@fy & fag
37T A I T fhaet grf 2

(i) How is voltage regulation done for unregulated power supply ?

(ii) Average value of potential barrier for P-N junction is 0-36 volt.
Electric field present at that junction is 1:8 x 102
kilovolt/metre. What will be the thickness of depletion layer for
this junction ? 1+1=2

21. fag FIfST & fag@-reasa @ T99Ry THid & et € | forp-graha ol
& el Fore wfew w1 g3 fafaw |

Prove that electromagnetic waves are transverse in nature. Write the
h 1,1
formula of energy flux vector of electromagnetic waves. l +5 =2

22. PHU IESH H WA HAMG HY RAfdd Al © 2 FfeAl IR ¥ f-4F H
Sl TIEUT e I HAT TI&0 hl HHEEY |
SYq el gfd fFastia Td goadE e | o Eifau qen see Tifae %
srfereran Tenfac &t S e 1Y SRIEy |

How does atomic number change in f-particle emission ? Explain
conservation of energy and conservation of angular momentum in

p-decay by neutrino hypothesis.

Draw the curve between binding energy per nucleon and mass

number. Show the range of mass number where nuclei are most
stable. 1+2+5 +5 =4

23. el TrEg Bd o aRefia wifee | e fofren § 5 39w R § 2 Tea
i W 1 AHifRa fos SR Thav g™ H qlTesd 96w w1 G
Tfyd I |

3reram
foeds =1 afenfya FIfSTT | yebmer ot oTden safq o fooda smart ¥ Ufea @
BT ? WA & nd Agiadl Hfcssl o1 Wes Td AHifhd fod sAEe a1 nd
ey 1 &HA T HIWL , o TG Fi 3o =0 IU&TINT T § |
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Define coherent sources. How are they produced in Fresnel's
biprism ? Draw the labelled diagram of Fresnel’'s biprism experiment

and derive the formula for determination of wavelength of

monochromatic light. % + % +1+2=4

OR

Define diffraction. Why is diffraction easily observed in sound than
light ? Draw neat and labelled diagram of Fresnel's n'® half period
zone and determine area of the nth Fresnel's half period zone when

higher order powers of wavelength is not neglected.

%+%+1+2=4

24. P-N HfYy erie &1 U0 59 gr wa € 2 9fy /s i Sopy IhAfd i
YT sgeEen w1 AHifehd URUY IFTHT THSAET | 3T U9 Schd STMEfd |
SRATT dicedt T8 91 & 787 Ty e |

3teraT
SIS ISieh Al § P-N-P gifoieX &l 9ifiteh afqer &1 AHifea fo=
R | ffa sifiyenerfore ot H Gfera & gusmen | Sokw Tifae gfadiy ud
TTfaeh 9RT JaEA TUTieh &1 TR fafaw |

How is P-N junction diode fabricated ? Explain reverse biasing of
junction diode by drawing experimental labelled circuit diagram. Give
relation between bias voltage and current for forward bias and reverse

bias. 1+1+1+1=4
OR

Draw the experimental labelled circuit diagram for P-N-P transistor in
common emitter configuration. Explain active region in output

characteristic curves. Define reverse dynamic resistance and dynamic

current amplification factor. 1+2+ % + % =4
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